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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Accounting ? What are the its main  

objectives ?  

ys[kkadu ls vkidk D;k rkRi;Z gS \ blds eq[; mís’; D;k 

gSa \ 

2. Explain the basic principles of Accounting.  

ys[kkadu ds ewyHkwr fl)kUrksa dk foLRkkj ls o.kZu dhft,A  

3. Name the three types of Accounts. Give their 

respective rules for journalising the transaction.    

foŸkh; ys[kkadu ds vUrxZr vkus okys rhu izdkj ds [kkrksa 

dk uke fyf[k,A bu [kkrksa ds lEcU/k esa viuk, tkus okys 

fu;eksa dk Hkh foLrkj ls mYys[k dhft,A  

4. Prepare a Bank Reconciliation Statement in the books 

of M/s. Snow White Ltd., as on 30th June, 2017 from 

the following transactions :  

(i) Credit Balance (Overdraft) as per 

cash book as on 30th June, 2017  ` 15,000 

(ii) Cheques deposited but not yet 

credited by the Bank (30-6-17) ` 8,500 

(iii) Another cheques deposited but 

dishonoured  ` 1,200 

(iv) Cheques issued but not yet 

presented for payment ` 6,000 
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(v) Interest on overdraft not recorded 

in cash book ` 780 

(vi) A cheque of ` 2,420 received from a customer, 

although entered in the Cash Book, was not 

sent to bank. 

eS- Luks okbV fyfeVsM ds ys[kksa esa ntZ fuEufyf[kr izfof”V;ksa 

ls fnukad 30&06&2017 dks ,d cSad lek/kku fooj.k rS;kj 

dhft, % 

(i) jksdM+ cgh ds vuqlkj fnukad 30&6&17 

dks ØsfMV cSysal ¼vksojMªk¶V½ ` 15,000 

(ii) psd cSad esa tek fd, ijUrq cSd }kjk 

30&6&17 rd ØsfMV ugha fd,  ` 8,500 

(iii) ,d psd cSad esa tek fd;k ijUrq cSad 

}kjk vLohdkj dj fn;k x;k ¼fMlvkWuj½ ` 1,200 

(iv) psd fuxZr fd, ijUrq fnukad 30&6&17 

rd cSad eas Hkqxrku gsrq izLrqr ugha gq, ` 6,000 

(v) cSad }kjk vksojMªk¶V ij C;kt fy;k 

x;k tks fd dS’kcqd esa ntZ ugha gSA ` 780 

(vi) ,d xzkgd ls ` 2]420 dk psd izkIr gqvkA mldh 

izfof”V jksdM+ cgh esa rks dh xbZ ijUrq psd cSad eas 

tek ugha fd;k tk ldkA  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Book-keeping ? How does it differ from 

Accounting ? 

cgh[kkrk ls vkidk D;k rkRi;Z gS \ ;g ys[kkadu ls fdl 

izdkj fHkUu gS \ 

2. State five limitations of Accounting.  

foŸkh; ys[kkadu dh ik¡p lhek,¡ D;k gSa \ 

3. What is meant by cash/expenses basis of Accounting ? 

udn izkfIr@O;; ds vk/kkj ij ys[kkadu ls vki D;k 

le>rs gSa \ 

4. When should the revenue be recognised ?  

vk; dks dc vftZr gqvk ekuk tkrk gS \ 

5. Distinguish between Trade Discount and Cash 

Discount.   

O;kikj NwV vkSj udn NwV esa D;k fHkUurk gS \ 
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6. What is Voucher ? Prepare an imaginary specimen of a 

voucher.  

izek.k ys[k ¼okmpj½ D;k gksrk gS \ bldk ,d uewuk dYiuk 

ds vk/kkj ij cukb,A  

7. What is the purpose of preparing bank reconciliation 

statement ?  

cSad lek/kku fooj.k rS;kj djus dk D;k mís’; gksrk gS \ 

8. What do you mean by a Suspense Account ?  

mpUr [kkrs ¼lLisUl ,dkmUV½ ls vki D;k le>rs gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks with appropriate words or phrases : 

mfpr ‘kCn ;k okD;ka’k ds lkFk fjDr LFkkuksa dh iwfrZ dhft, %  

1. Receipts and Payments Account is a ............. Account. 

 (Real, Nominal, Personal ) 

vk; ,oa O;; [kkrk ,d 
------------------

 [kkrk gSA  

  ¼okLrfod@ukeek=@O;fDrxr½ 
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2. Subscription received by an institution is a ............. 

receipt.   (Capital, Revenue)  

,d laLFkku dks izkIr pUns (subscription) dks 
-----------------

 izkfIr 

ds vUrxZr iqLrkafdr fd;k tk;sxkA   ¼iw¡thxr@jkTkLo½ 

3. Credit sales can be ascertained in the balancing figure 

in the .............. account. (Debtors/Creditors) 

m/kkj fcØh dks 
--------------------

 [kkrs dk vo’ks”k fudkyus ls Kkr 

fd;k tk ldrk gSA  ¼ysunkjksa dk@nsunkjksa dk½ 

4. A debit balance is either .......... or ............  

     (Asset, Liability/Income, Expense) 

,d MsfcV ‘ks”k 
----------------

 vFkok 
----------------

 gksrk gSA  

  ¼iw¡th] nkf;Ro] vk;@O;;½ 

5. Goods taken by the proprietor for personal use will be 

credited to ............... A/c. (Purchase A/c/Sales A/c) 

O;kikjh }kjk viuh viuh nqdku ls vius O;fDrxr mi;ksx 

gsrq yh xbZ lkexzh dks 
-------------------

 [kkrs esa ØsfMV fd;k tk;sxkA  

  ¼Ø; [kkrk@foØ; [kkrk½ 

Indicate the correct answer option : 

mŸkj ds fy, lgh fodYi dk pquko dhft, %  

6. Personal Accounts are related to :  

(a) Assets and Liabilities  

(b) Expenses, losses and incomes  

(c) Debtors, creditors etc.  

O;fDrxr [kkrs ¼ilZuy ,dkmaV½ fuEufyf[kr fodYiksa esa ls 

fdl ,d fodYi ls lEcfU/kr gksrs gSa \ 
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¼v½ lEifŸk;ksa ,oa nkf;Roksa ls  

¼c½ O;;ksa] ?kkVksa ,oa vk; ls 

¼l½ nsunkfj;ksa ,oa ysunkfj;ksa vkfn ls 

7. Payment of ` 6,000 as wages to ‘workmen’ of 

installation of a machine should be debited to :  

(a) Wages A/c 

(b) Repairs A/c 

(c) Machinery A/c 

,d e’khu dks LFkkfir djus gsrq ^odZeSu* dks fd, x,  

` 6]000 ds Hkqxrku dks fdl [kkrs eas MsfcV djsaxs \ 

¼v½ etnwjh [kkrk 

¼c½ ejEer [kkrk 

¼l½ e’khu [kkrk 

8. In cash book the balance of the cash column is :  

(a) Always Debit  

(b) Always Credit  

(c) Either Debit or Credit  

(d) Neither Debit nor Credit  

dS’k cqd esa dS’k dkWye dk cSysal bu fodYiksa esa ls fdl 

izdkj dk gksrk gS \ 

¼v½ lnk MsfcV 

¼c½ lnk ØsfMV 

¼l½ MsfcV ;k ØsfMV 

¼n½ u MsfcV u ØsfMV 
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9. A pass book is a copy of :  

(a) A customer’s account in the bank’s books.  

(b) Cash book relating to bank column.  

(c) Cash book relating to cash column.  

(d) Firm’s receipts and payments.   

ikl cqd fuEufyf[kr esa ls fdldh izfrfyfi ¼dkWih½ gS \ 

¼v½ cSad dh cgh esa xzkgd ds [kkrs dh izfrfyfiA  

¼c½ dS’k cqd ds cSad dkWye dh izfrfyfiA 

¼l½ dS’k cqd ds dS’k dkWye dh izfrfyfiA 

¼n½ QeZ dh izkfIr;ksa ,oa Hkqxrku dh izfrfyfiA 

10. Income earned but not received is shown in :  

(a) Liabilities  

(b) Assets  

(c) Footnotes  

(d) None of these 

mikftZr vk; tks vHkh izkIr ugha gqbZ] dks fuEufyf[kr esa ls 

fdl en ds vUrxZr n’kkZ;k tk,xk \ 

¼v½ nkf;Ro 

¼c½ lEifŸk 

¼l½ QqVuksV 

¼n½ buesa ls dksbZ ugha  
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